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Paper I

PrErIECT |

[Maximum Marks : 100
This Paper contains Sixty (60) multiple choice questions, each question
carrying Two
Attempt any Fifty (50) questions.
I GIAURd WE  (60) dgiae UEA fooiel ST Y&e TRl &M () U
TR
AR T (50) YT IW fo@n

(2) marks.

Major role of a teacher is to : 1. Tt yq@ yfaer -
(A) Provide the students up-to-date (A) foenefan SR T R
knowledge
B) fernezit s/ qforar
(B) Provide the students accurate ) =
knowledge (C) fommeatan IEIT & AT T
(C) Assist the students to acquire Id HWRRA <0
and reorganise knowledge PN .
(D) foreneatn feeret T <Tehles TROMA
(D) Assist the students to remember N
AU WERA <O
given knowledge for a long
time. 2. AegATaR gaifus wftoms o

The learner characteristics that

impacts learning the most are :
(A) Social and economic background
(B) Intelligence and study habits
(C) Aptitude and motivation

(D) Age and health

AR dfTe

(A) GHISeh 3o efifeles oreeivHt
(B) dfgaan sufor sqvaragert
(C) eAfwermar aafor geon

(D) =3 v AR
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The main drawback of lecture is

that :

(A) The students get bored

and become inattentive

consequently

(B) The students get readymade

answers and become lazy

(C) The students become passive

receivers and do not think

(D) The students get engaged in

taking notes and become tired

If ‘Learning to know’ is aim of
education, then students should

be :

(A) provided with latest global

knowledge

(B) taught with the help of latest

technology
(C) given more indepth assignments

(D) encouraged for self-learning

4.
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AN @ Y "N

(A) foamef weresara amfor gfeomst

AIYH <d TRl

(B) fomneafa TR s faesara snfor 3

T’ I,

(C) foenedt frespta wWieeRer s=ard s

foamR wtd .

(D) fereneff fewor Hroad e Ton erep

STt

SR AT TS e’ g feeroma

g 8 R faeneafa .

(A) STEEEq ST M g

(B) Yk T A=A TR

(C) Afyer TEE @ea™ Jad

(D) TE-ITIIATAT WedTed hia




Which effort will promote use of

library by students ?

(A) Development of skills and

interest in reading

(B) Attractive display of new books

and journals

(C) Reading assignments given by

teacher

(D) Appointment of student
representatives on library

committee

Present evaluation system has

limitations regarding :

(A) Predicting success in academic

courses

(B) Predicting success in life and

vocation

(C) Measuring development of

skills

(D) Judging academic achievement
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RV YA formeat=a Tarer™ o
T fHesa ?

(A) TR 9 Al fasmm

(B) T8t g a fraasifas am=

THYH YA

(C) Torerrr feorl oA e

(D) e gffdier fomnef wfafqeri=i
Trgerit

QEATAT JIHIIA JUlTeild Siieitel siTeldid

e 3T

(A) Sreaforer ST IR aifehd
HLO

(B) Sfted 9 TaHMEId I9Mme MIfohd

SO

(C) hivTcafaert@™ HYF ol

(D) Serfres dued SrEn

[P.T.O.



Knowledge unlike belief refers to :
(A) Values

(B) Perceptions

(C) Facts

(D) Myths

One of the main aims of science
is :

(A) Persuasion

(B) Prediction

(C) Postdiction

(D) Assertion

The stage at which the researcher
makes his/her observations and

records them, is called as :
(A) Data Measurement
(B) Data Analysis

(C) Data Processing

(D) Data Collection

9.
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HEIIGHS ¥ FEeN @F] qed AR
(A) g

(B) gftesh

(C) da=A

(D) fresh

I Th JHE 9 AR
(A) H9 Fesaul

(B) i 0l

(C) 9[ThTes ToTol

(D) g&ase 0

ST TR GYNee oTdel] faierol

= N

[eadl/Aicad dl 2u WS

(A) Hifedi= A9

(B) wfed=r fargerom

(C) WIfEd= &R

(D) HIfed™ Heha




10.

11.

12.

A set of interrelated concepts,
definitions, and propositions that
present a systematic view of
phenomena by specifying relations

among variables is called :
(A) Procedure

(B) Theory

(C) Method

(D) Causation

An exhaustive and critical reading
of the available literature on the

research topic prior to its

investigation is called as :
(A) Researching of literature
(B) Review of literature

(C) Assessment of literature
(D) Classification of literature

A “focus group discussion’ includes

about ......ccceeveeeniieenns participants.
(A) 6-8

(B) 22-26

C) 24

(D) 10-15

10.

11.

12.
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TEREEY AN Heheqdra THE,

=re onfor fagia <= If wEEn
Tl TSaviR foem #ies = .

(A) HEYTCA

(B) fagm@
(C) 9gd

(D) HERRIIE

TN & hOAE, T STHIA

Oifec fafercgemqo anfur =9 e

a0 ATl hiI WU 7
(A) Iifeca EREA
(B) w@rfgd 9iero

(C) wfe HeAih

(D) Iifeca efiehTom

‘Bied qu fewneE’ wY FwEReMl
........................ A vt |

(A) 6-8

(B) 22-26

C) 24

(D) 10-15
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Answer question Nos. 13 to 18
based either on the English or
the Marathi passage

As matters stand today, many
teachers are unable to do the best
of which they are capable. For this
there are a number of reasons, some
more or less accidental, others very
deep-seated. To begin with the
former, most teachers are
overworked and are compelled to
prepare their pupils for
examinations rather than to give
them a liberalizing mental training.
The people who are not accustomed
to teaching—and this includes
practically all educational
authorities—have no idea of the
expense of spirit that it involves.
Clergymen are not expected to
preach sermons for several hours
every day, but the analogous effort
is demanded of teachers. The result

is that many of them become

FEB - 00013/I-A
Y9 oh. 13 d 18 ¥ Ue feerean sar=max
AT Yol IW AT -
SfTRMEMRT dF sieTax YO STHard. 9,
=g & HHieE o1 1 dF 9. HqHdE
FHT & sifees w@nifas, TERR omfir
WG 3194, < BT o THISTe ScdTel,
SIRIER, 3che, AY®], FOR, 9T 9
fofSriiy aerd. a1 IFTen TseieRieRd
ST, T, T, A S0 TASrSIon
IR T 3o THesdl. fo=amye
foere 9 fean A ugwia g =
ST & aeft HEET0 Adecie HHl 3.

qray, fegret, TR, ST, WA 9 &

hd. ATAYHT =R SHIs STedl

fafsshaar, <9 I Hihe T fhesd.
freames TfadHaT o &= == 3gwa 2.
U7 A1 S (ST fae=amdt) Ht=n i

Trehasid Tl Sd el fohel 1 Higehetr=

~

©es THdl. URIfee SeAiqaa & Johe

BT




harassed and nervous, out of touch
with recent work in the subjects that
they teach, and unable to inspire
their students with a sense of the
intellectual delights to be obtained
from new understanding and new
knowledge.

This, however, is by no means the
bravest matter. In most countries
certain opinions are recognized as
correct, and others as dangerous.
Teachers whose opinions are not
correct are expected to keep silent
about them. If they mention their
opinions it is propaganda, while the
mentioning of correct opinions is that
the inquiring young too often have
to go outside the classroom to
discover what is being taught by the
most vigorous minds of their own
time. There is a subject called civics,

in which, perhaps more than in any
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e Ufdeifdsh ™ Wd <9 U<

AT, 3T ek o Rl k. I ST

STt BT STaid STk 30T THTSTHHTSI

anfor epdiatpdidial arqef & el
Ch. SASadl §d Sfde™ WU o |

STl AT SO Searsarsn S

qmed 9 WYl A T S

YN SR 2. THAT o <1 BUIS]

S-S ® @IS dSAfIAHT=
TIA-TRATATHT 3TSTeR. TEed 3Teidd

TSI 9d GHSI=AT 37dvid SeahT=

F T faeR ar 3/ |, i st

qoAfoRIATCHeh ITh dTed 3TEd 312fel Hed
3A, TIER I i A S
aid qREdd Bd e19d. aREdE )
S a1 g A1 STaferd-rg o st
S 2. U GHS hegladl ST,

o [d

STofd 3T fash €% Srehal, dradd @
THSTA VLAt 9 Sl 9l e Ji
e el fHfauamardt o Sedrdret
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13.

other, the teaching is expected to be
misleading. The young are taught
a sort of copybook account of how
public affairs are supposed to be
conducted, and are carefully shielded
from all knowledge as to how in fact
they are conducted. When they grow
up and discover the truth, the result
is too often a complete cynicism in
which all public ideals are lost;
whereas if they had been taught the
truth carefully and with proper
comment at an earlier age they
might have become men able to
combat evils in which, as it is, they

acquiesce with a shrug.
The author regrets the fact that :

(A) clergymen are not expected to

preach everyday

(B) many teachers are not able to

realise their full potential

(C) some teachers are better than

the others

(D) teachers are expected to train

students’ minds

13.
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Tirges T g fasras™ g
AT ST 9 IHed Id ST Jh

BT 9 o FHE gfassd d<g WK

faN

fadeharg,

HLOATRLAT e T Ll

foMemR, 3™d Jfaare ar=t W% T

@ Sl STEEac! e QudrEl o

HIdl. LS FATS S fors

ARl 3T |rHTfSTeh THA=N &I el

AT TSR DIV Thdiell Goehy
qRIh FHAT FRRAT STel A&l 901 Siaid
foerm B TEdl 3T HSIdIA TR
U aTed 3THd, dudd SHde el
AR A 0 S0 FHTSTe
IR 3T ATges fafaer siien gt smfr

oI I YHOT S SIS R 9T ATel,

T Tl Hafte SaTdH gord.

eIl A hIvld TS Hald qHdh
A ?

(A) TUdl, =g F e

(B) sfcerdr=n sty

(C) sfde™ 9 THS

(D) SRTEE= RO




14.

15.

16.

Which of the following statements

is true ?

(A) Educational authorities are

effective teachers

(B) In all countries certain opinions

are recognised as correct

(C) Civics is unnecessarily taught

in some contexts

(D) Most teachers are forced to
prepare their students for

examinations
Teachers are expected to :

(A) discover the truth

(B) be cynical about public ideals

(®))

lecture for many hours every-

day

(D) inspire their students to work

hard
Teachers are out of touch with :

(A) the recent developments in their

own subjects

(B) the latest encyclopaedias

(C) the reality of the world

(D) propaganda

14.

15.

16.
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N o S N
@A Hd GHISeh IRadHra Rl

% ?

(A) " WdIfaess  9om

(B) FHNTEHNSTOA  garegyf

(C) TSI YT -9t

(D) IS I/ o THa=t ST

(a)

IR SHET ToY @eh STodIen

Sean 38, SR ¢
(A) T FHHEHIN Adaerelt HH ST

(B) THI=A ST o 3Tk i
(C) Teafaffadqa nfdddes s/ gerg
=T =1 Tehal

(D) <t ATOTETAT ey eTfur vt
ERCh

gHAT M =™ AT ERA HA

(A) Ufaefaergeen fagg fesen o=
YO 3TRA

(B) THHSIIN HEARRUHEN Haferd

Yo 3R
(C) quid: oTHeg YO Ted
(D) UhHhl Uoeh I9M YIOM 37ed
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17.

18.

The teaching of Civics is problematic

because students realise that :

(A) they cannot combat the evils of

society

(B) they cannot formulate correct

opinions about society

(C) what they were taught is

different from reality

(D) they cannot take delight in new

knowledge

Choose the most appropriate title for

the passage from the following :

(A) Difficulties faced by teachers

(B) The teaching of civics

(C) Students’ duties

(D) Teaching as a noble profession

17.

18.
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AT ot es w8 Ivmdt wad

=l e BN

(A) YA g i S sifieran
Yl 3%

(B) A ORI THd 9 =t 9Tt

(C) HHc=H1 FHHiqA A0 S0 |rHATfSih

qTefe A= SRl

(D) g fefo ot waf 9 g™

sfaeraTd Icdsh THTST 8 oFi-SIdiHed

~

faamaar fead

arfor SAT=ATHER

fRTI=T FEIAEET e Tl

3194
(A) gy =R
(B) 3q0Y R

(C) qui faum s}

(D) qui faum ==&

10



19.

20.

In which of the following types of
communication the sender and
receiver very rarely share the same
time and space continuum and

interact in a considerable way ?
(A) Interpersonal Communication
(B) Group Communication

(C) Mass Communication

(D) Verbal Communication

We generally and unknowingly
tend to believe non-verbal clues
more than verbal clues of a person

because :

(A) verbal clues are generally

difficult to understand

(B) non-verbal clues are more

involuntary than verbal

(C) verbal clues are highly culture

sensitive

(D) non-verbal clues are highly

controllable

19.

20.
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QAT FTIATAT ShIUT YhTId Utieh

9 ek BRE Ffad Uehld Tod—hladld

ThHhIEed T9drd ST TehHehiEled
TR SATITSET0 AR il

T ?

(A) IF TR Fag
(B) TS

(C) SHHIYA

(D) H= HAH

Y0 FEEIROTqo 3T Tohosd IS
HIIMUeT Yecforied Tesmer S favarg
3Fdl, SR :

(A) TS H3Y GHSIHIAT TAETERorgoy
HA ATAd

(B) viscfoifed TSl 9Xlee HoIMUaT

3Ty IThRd  STHAT

(C) |31 W¥ WIR FEHardard &l

HAHdTd

(D) vr==foaRfed Hegmer ®R =M ==

3adl Id

11
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21.

22.

23.

Which of the following are examples

of non-verbal communication ?
()

(1) Emoticon

Grunt

(iii) Letter

(iv) Sigh

(A) only (i) and (ii) are correct
(B) only (i) and (iv) are correct
(C) only (i7), (i7) and (iv) are correct
(D) only (2), (it) and (iv) are correct

On the criteria of interactivity and
dynamism of communication which
of the following is the best situation
for teaching ?

(A) Face-to-face classroom teaching
(B) Video lecture with talk back
(C) A simulated virtual classroom
(D) Distance education

Which year marked the arrival of
private satellite television channels

in India ?
(A) 1982
(B) 1985
(C) 1991
(D) 1995

21.

22.

23.
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WICiTeh! o el T:37eg TAToHT=
SEE SR ?
@) PN
(i) FHfeREA

(Gir) 9o

(fv) 39T

(A) S (i) M (i) HA 3T

(B) W (ii) A0 (jv) TcF ed
(C) ek (i1), (i47) AV (jv) A 3T
(D) % (), (i) 30 (jv) TA 3T

HATIATA  STafshan 3Tfor Tfaaran =
ey fersfaramarst wreiaitsi

~ by fa
HaAlh®e TGd IOl 7

(A) FHREHR g aid shelal AL

(B) st wewrm=A gfagwe fefesh
Rt

(C) wfdeeta emarft =
(D) W&o ggd

HRATd SIST HIeTeh =41 3UU8 gXfer=Taof
aifg= ko e fog aren 2

(A) 1982
(B) 1985
(C) 1991
(D) 1995

12



24.

25.

26.

In the context of Indian media

identify the correct alternative :
Newspaper : IRS :: TV : ?
(A) TRP
(B) TPR
(C) TVN
(D) TAE

Replace the question mark (?) by an
appropriate alternative in the

following series :
32 33 37 46 62 ?
(A) 85
(B) 87
(C) 94
D) 99

Replace the question mark (?) by an
appropriate alternative in the

following letter series :
AZ DW GT JQ ?

(A) LD

(B) MN

(C) MO

(D) NM

24.

25.

26.

FEB - 00013/I-A
TR TERATEAH FHid Seierieht
A T e
FAUF : . AR TH. :: A Lo ?
(A) &, 3. U
(B) <. . .
(C) 3. = T
D) d. T E.

ydel e geArsre ((?) Wl
4 v fEer
32 33 37 46 62 ?
(A) 85
(B) 87

(C) 94

D) 99

eIl 318K shiHehd JeAfagren ( ?) St
I ggg e
AZ DW GT JQ ?
(A) LD
(B) MN
(C) MO

(D) NM

13
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27.

28.

29.

30.

In a certain code language, PUNE
is written as SXQH. How would you
write DELHI in this language ?

(A) FGNJL

(B) FGNJK

(C) GHOKM

(D) GHOKL

Find the odd man out :
(A) 6

(B) 18

(C) 24

(D) 36

Find the wrong term in the following
series :

68 66 62 59 56 53
(A) 59
(B) 62
(C) 66
(D) 68

P is the brother of Q; Q is the son
of R; S is R’s father. What is P of
S ?

(A) Son

(B) Brother

(C) Grandson
(D) Grandfather

27.

28.

29.

30.
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T fafyre gibfas ™9 PUNE ®
SXQH 3/ fafest Sa. = @iehfds 9o
DELHI 9 fafeat SEa ?

(A) FGNJL
(B) FGNJK
(C) GHOKM
(D) GHOKL

faaqd wes ofes@n :
(A) 6
(B) 18
C) 24
D) 36

o} [N

qeicl Shiehd gehid U I :

68 66 62 59 56 53
(A) 59
(B) 62
(C) 66
(D) 68

Pd QN 9% &8, Q& R =1 Herm
I STRIATSHA MRA. P& S =
HO A ?

(A) Hemm

(B) 9

(C) =q

(D) ATSHen

14



31. In this question, a statement

is followed by two assumptions, I

and II. Decide which of the

assumption/s is/are implicit in the
given statement. Indicate your
answer by choosing one of the

alternatives :

Alternatives

Mark :

(A) if assumption I only is implicit.
(B) if assumption II only is implicit.
(C) if both I and II are implicit.
(D) if neither I nor II is implicit.
Statement

Children are influenced more by

their teachers.
Assumptions

I : Alarge amount of time is spent

at school by the children.

IT : Children consider their teachers

as role models.

FEBR - 00013/I-A

31. I 9 Th faum a mamet gF

o N

3med. feorew

Tedes I a9 11 feored

faummed Srord/Ivrd Jeden/Jiedes

ATHA AR/ ¢ Sl TAH ST A
& IR gEen

g

(A) Tfeas I 3T ST,

(B) Tfeas II 3TA 31T

(C) T=r TYfeaeh I 9 I TIRA 3T

L NN o

(D) SI=EIUshl hivrd= Tfgde AT

.

faeam

qetie fererren sAfues 9w el

< -

I : Fcal 99 oo IMosd STl

I1 : gai o e eveel dredm.
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32. In this question, two statements

33.

numbered 1 and 2 are followed by
two conclusions P and Q. You have
to take the two statements to be true
and then decide which of the two
conclusion/s necessarily follow/s from
the two given statements. Indicate
your answer by using the
appropriate alternative :

Alternatives

Mark :

(A) if only conclusion P follows.
(B) if only conclusion Q follows.

(C) if both conclusions P and Q
follow.

(D) if neither conclusion P nor Q
follows.

Statements

(1) All guilty men are prisoners.
(2) No prisoners are educated.
Conclusions

(P) Some educated persons are
prisoners.

(Q) Some educated persons are
guilty.

Replace the question mark (?) by an
appropriate alternative :

Yard : ? :: Quart : Litre
(A) Metre
(B) Pint
(C) Pound
(D) Foot

FEB - 00013/I-A

32. a1 9y oF faum 1 enfor 2 feoier o1,

33.

AR P 3 Q ® I feehd area.
TeeTen orel faum et AFEEEt Sed
afor ATgA HIvTar/Hiord st
FHfe=rqud shiedr Age1/3dd d SHEE ..
qe ST JeieTden! Teh! TATAGR Seiama
e

'q-q'ht

(A) werd P &1 frsskdl T,
(B) e Q @ frehd freran.
(C) P a1t Q ® Jrgt Freapel T

(D) P snfor Q =dent v fewd
e .

ﬁ':l%'lﬁ :

(1) W& STUUet e el ST

(2) IRl Sl ghrfaa .
el

(P) & grorfera =t el 3.
(Q = gfofera =adt sTaeh sTred.

gyAafa=r=ar (?) ST FA|T™E 9Fig
IREEINR

RICHRVIETIE - | CAPNR [ Ca
(A) "X
B) T
(C) dre
(D) %

Hdld.
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34.

35.

36.

Find the odd man out :
(A) Zinc

(B) Iron

(C) Iodine

(D) Mercury

In a junior college with 500 students,
250 students study Mathematics and
200 students study Biology. One
hundred students study neither
Mathematics nor Biology. How many
students study both Mathematics
and Biology ?

(A) 50
(B) 100
(C) 150
(D) 250

Select the same relationship from the
given four alternatives as given in

the original pair.
Square : Cube

(A) Triangle : Prism

(B) Circle : Sphere

(C) Sphere : Earth

(D) Line : Cylinder

34.

35.

36.
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faTd wesh Sfeen
(A) S&d

(B) <&

(C) aAfed

(D) 9

qrarst fomneff stadiear wwr wfass
Telfoareames 250 fomneff wfvrar
LTI wIarq st 200 fozmef
ST SAF hiad. TR faeneft
Tforg feran Stawme ATTHT FHIOTAT
faoe 79 hiq rerd. fohal faemeft

EERIE

forg anfor STeaRme a1 <=l

(A) 50
(B) 100
(C) 150
(D) 250
S gey foolen Seld SR, are ey

foreamaTett fooiean TRye! <1 Sield 3/,

@ Siret e
IR : WE
(A) BRI @ STk
(B) ades : T
(C) el : geait
(D) I : T
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Yearly income of three men and
two women is given in the
following table. Read the table

and answer questions 37 to 39 :

Income (in thousand rupees)

Person 1990 1991 1992 1993
Mohan 120 160 200 240
Hariprasad 100 140 160 200
Laxman 90 120 150 200
Smt. Meenakshi 200 250 300 370
Km. Radha 120 120 150 170
37. Who has the average income of

38.

Rs. 1,40,000 for all the four years ?
(A) Mohan alone

(B) Mohan and Hariprasad both
(C) Laxman and Km. Radha both
(D) Km. Radha alone

How high is the total average
income for four years of men
compared to that of women (in

thousand rupees) ?
(A) 213.334
(B) 350.044
(C) 432.054
(D) 544.082

FEB - 00013/I-A

TTeilel qaamaed a0 I&s a ar
forara arfife 3= faot R,
AT S 37 o 39 AT YIS I
forr -

IO (TR TIAWE)

el A 1990 1991 1992 1993
Higd 120 160 200 240
BIER 100 140 160 200
A 90 120 150 200
it wiemedt 200 250 300 370
. T 120 120 150 170
37. HIUME IRE I&(F GUEA 3T

38.

1,40,000 %. 37§ ?
(A) HET Tl
(B) Higd 9 sy el

(C) | § &. YT SER

D

(D) . T Tehdl
e IR FEEe TR GO 3eqH
T o= sa=men fodq Sra eme
(FIR TUAWeEd)  ?

(A) 213.334
(B) 350.044
(C) 432.054
(D) 544.082
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39. What is, in round figures, the ratio | 39. W= THW I foF=n THM

between the total income of men and SR 3THed ORI ‘{UTW'"I'H%?} TRt
that of women for all years ? e ?
(A) 14 : 15 (A) 14 : 15
(C) 23 : 21 ©) 23 : 21
(D) 16 : 14
(D) 16 : 14

The following table shows the .
. WTATA deaTied Tl St r=ar
percent change in monthly

value of inventory at six EEE“IK LRI QlDEI q ST T
businesses from April to June WWWWW

(for Q. Nos. 40 to 42) : (U9 ok, 40 9 42 W@ :
Percent Change FECAT SThart
Business From April From May I Eﬁil'(_'fﬁﬁ‘ ﬁ'a\_lf‘f
to May to June P +6 +8
P +6 +8 Q +5 _5
Q +5 5 R +2 +12
R +2 +12 g .8 5
S +8 = T +14 0
T +14 0
U +2 -10
U +2 -10
. _ 40. UfyeMed SEM Q W YEIHTA W
40. Ifthe value of inventory at Business 30 M@ . AW, 9 @ I

Q was Rs. 30 lakh for April, what
was its value for June ?

(A) Rs. 22.500 lakh
(B) Rs. 29.925 lakh
(C) Rs. 30.000 lakh (C) 30.000 <@ %.
(D) Rs. 33.000 lakh (D) 33.000 <@ %.
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JaEe geEged fhdt s/@e ?
(A) 22,500 <& ®.
(B) 29.925 @@ *.




41.

42.

43.

Which of the six businesses had the
greatest percent change in value of

inventory from April to June ?
(A) P

(B) R

C) T

D) P, Rand T

The value of inventory for May
as percentage of the value of
inventory for June is maximum for

Business :

4) Q

(B) S

) T

D) U

.doc is a :

(A) Word file
(B) Picture file
(C) Deleted file

(D) Driver file

41.

42.

43.

FEB - 00013/I-A

Tkl IV TN G TgeaHEd

UfUeTagA A Head 918 el ?
A P

(B) R

) T

D) P,R sufor T

N NN

ShIUTeAT SETT | Hig=Tdiel YeIed &

ST 9 AfgAdia e

ZFhANIJIR HEH 318 ?
A) Q

B) S

) T

D) U

.doc ®US :

(A) =€ wEA

(B) foFR wRw

(C) feeiies wrEa

(D) SR HEdA

20



FEBR - 00013/I-A

44. In computer terminology which one | 44. WURT=N URYTHG @eicieh! I
of the following is the largest in Ul T ST 3T d 2
terms of data capacity ? (A) KB
(A) KB (B) TB
(B) TB (C) MB
(C) MB (D) GB
D) GB 45. THREY IR EHNOYY REE! el
45. Skype is usually used for : S ?
(A) social networking (A) GO QIS STes
(B) interpersonal communication (B) STaieTail HTaH
(C) virtual classroom (C) Tyt o
(D) actual classroom (D) & o
46. Statistical tables can be generally | 46. TUERMEY IV AFEISTHEY I ETht
generated on : RO TR hell ST ?
(A) Microsoft Word (A) HEHER oS
(B) Excel (B) T
(C) PowerPoint (C) dleRuiEe
(D) Paint Brush (D) = o
21 [P.T.O.



47.

48.

49.

Identify the incorrect form of

addressing any dignitory :

(A) Cabinet Minister—Honourable
(B) Mayor—Honorable

(C) Governor—Your Excellency
(D) Judge—Your Excellency

A speech generally includes the

following parts :
@

(1) Statement of the central idea

Introduction

(7iz) The main body

(tv) Conclusion

(A) Only (i) and (iii) are correct
(B) Only (), (iii) and (iv) are correct
(C) Only @7) is correct

(D) All the four are correct

Reduction in earth’s ozone layer

leads to :

(A) Increase in smog concentration
(B)
(®)

Increase in sea levels

Increase in UV radiation on the

earth’s surface

(D) Reduction in oxygen level on

the earth’s surface

47.

48.

49.

FEB - 00013/I-A

AT SHK{aTedd  T[ehid Galgd
Seel

(A) fere 7l —HHEHE
(B) WRMHR—G1
(C) TSI — R
(D) =Y — AR

qISTOTAES WITATAdHT HITA  SEh
I ?

() Yt
(i) THad gl

(Iii) 987 WA

(iv) ARG

(A) e (i) 9 (jif) TR 3

(B) e (i), (iii) o (jv) S&X ed
(C) hoed (i) SIS 8

(D) ¥d ¥R SR A

geatadiel Sl oR fotes grvar=n aRkums
TS :

(A) g% T T

(B) WHSA Ued a1 e

o o N

(C) gesfiaereriiel stfdiar fereuieaia

a1e B
(D) Yeefidaie’icl Yuem=l didedl Hed
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50.

51.

52.

The following are alternate sources

of energy :
(2) Solar

(it) Nuclear

(iii) Wind

(lv) Sea waves

(A) Only (i) and (iiz) are correct
(B) Only (i), (i) and (iv) are correct
(C) Only (2), (Zit) and (iv) are correct

(D) Only (i7), (iiz) and (iv) are correct

CEE is an organization associated

with :

(A) Civil engineering

(B) Environmental education

(C) Coastal environment

(D) Commerce and economics
Richter scale is used to measure :
(A) Wind velocity

(B) Siesmic vibrations

(C) Intensity of light

(D) Volume of water

50.

51.

52.

FEB - 00013/I-A
T TRl Ed gelayHml
G) ¥R
(i) 3fveren
(iii) A
(iv) HHT=A e
(A) &K (i) 0 (iii) SR TR
(B) %K (i), (i) S0 (jv) s AR
(C) e (), (i47) 3T (fv) S TR
(D) WK (i), (i41) 30T (fv) SR SAT-d
W3z & T IRt e[ &R
(A) T AR
(B) Taferur ferermn
(C) SRR Tafero

(D) anforsg aqifor 31efem

&y The=al 9era & |Jisd

ST ?
(A) ar=m=n 9T

(B) yehuered

(C) YhIIM= diea

(D) 9o 9RETo
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53.

54.

55.

High tide and low tide is influenced
by :

(A) Rotation of the earth
(B) Revolution of the earth
(C) Phases of the moon
(D) Supernatural forces

The key controversy regarding
the Narmada Dam Project focussed

on :
(A) Electricity production
(B) Water distribution
(C) Rehabilitation

(D) Poverty

Which of the following is untrue

about Deemed University ?

(A) It has full autonomy in setting

course work

(B) It prepares own guidelines for

admissions and fees

(C) It can affiliate other institutions

(D) It can award degrees under its

own name

53.

54.

55.

FEB - 00013/I-A

It 2O BTN A=A HIm= 9o
el ?

(A) geaa gfteed

(B) geat= aRywo
(C) <= <hell

(D) <t B

T eRO YehoureTeddl U@ g Al
Teufd A :

(A) ST

(B) Tfteney

(C) TeEH

(D) =

fyma foemdieemea +F T\ 3R ?

(A) STRFhHH TIR HIOFTSITEI ATl 0T

Rl A9d

(B) 4 Wi o YASIeeld Tod =t ANieYih

atd TIN & Iehd

(C) T 3 TEIAT el dl T Iehd

(D) 4 Wd=A TP USdt g e

ME
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56.

57.

58.

Which of the following is not a

Professional Course ?
(A) Pharmacy

(B) Law

(C) Engineering

(D) Fine Arts

The right of minorities to establish
educational institutions in India is

provided by :

(A) Fundamental Rights
(B) Fundamental Duties
(C) Directive Principles
(D) Human Rights

The process of making new syllabus

of any course begins in :
(A) Faculty

(B) Board of Studies

(C) Academic Council

(D) Research and Recognition

Committee

56.

57.

58.

FEBR - 00013/I-A

TITCHTUh! ShIUT STHATHHRH AT
& ?

(A) 3t fwforeme

(B) faeit

(C) afvnfrent

(D) «ferd hell

TR 3eIforer TEm TOT oI

SCTHEATRTAT TFh B hIMal WM
e ?

(A) HAYd TFh

(B) HAYd s

(C) Hrieeih v

(D) el &k

el AITTHATETS! A1 ITSaHh A

IR H{ogr iha

JY gE Td.

(A)

(B) 319 HED

(C) fomm uftsg

(D) Hegd o |-l |fit
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59.

60.

The apex institution/institutions for
engineering education and research

in India is/are :

(A) Indian Institutes of Technology

(B) Indian Institutes of Information
Technology

(C) Indian Institute of Advanced
Study

(D) Association of Indian
Universities

The University Grants Commission

of India has the following
responsibilities :
(1) Promote and co-ordinate higher

education.
(11) Maintain standard of teaching,
examination and research in

universities.

(ii1) Provide funds for higher
education.

Advise Central and State
Government on measures to be

(tv)

taken for improving higher
education.

(A)
(B)
©)
(D)

Only () and (ii) are correct
Only (1), (i) and (iv) are correct
Only (7), (i) and (iii) are correct

All four are correct

59.

60.
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TR STRifsert foreqor o g
Il Haled G WUS

(A) feam sfeege ofw eAtarst =
AT TER

(B) 3fewm zfeeyge &1fw Twdvm
St T ,

(C) sfeam sfeege 1w siemqg

=

(D) STEIEEH % sfeam FH=fbds

oIt faardte stgeE  srAtr=An

STeTeRAT @eild JHM 3Ted

() 3=a foeromen =S <O 9 gaeH
HI.

(i) foemdierdte qeamg, gder oo
TINYATT TS1 H1EIH STl

(iii) 3=a Togomadl et gefaa.
(iv) =3 el YUROTER! SUrEed

%3 9 U9 N Feal Qul.
(A) e (i) 9 (i) A4
(B) e (i), (i) 9 (v) a4
(C) e (i), (i) o (i) AT
(D) =M@l g
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ROUGH WORK
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